
Recommend!! Get the Full Associate-Cloud-Engineer dumps in VCE and PDF From SurePassExam
https://www.surepassexam.com/Associate-Cloud-Engineer-exam-dumps.html (190 New Questions)

 Google
Exam Questions Associate-Cloud-Engineer

Google Cloud Certified - Associate Cloud Engineer

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



Recommend!! Get the Full Associate-Cloud-Engineer dumps in VCE and PDF From SurePassExam
https://www.surepassexam.com/Associate-Cloud-Engineer-exam-dumps.html (190 New Questions)

NEW QUESTION 1
You need to grant access for three users so that they can view and edit table data on a Cloud Spanner instance. What should you do?

A. Run gcloud iam roles describe roles/spanner.databaseUse
B. Add the users to the role.
C. Run gcloud iam roles describe roles/spanner.databaseUse
D. Add the users to a new grou
E. Add the group to the role.
F. Run gcloud iam roles describe roles/spanner.viewer --project my-projec
G. Add the users to the role.
H. Run gcloud iam roles describe roles/spanner.viewer --project my-projec
I. Add the users to a new group.Add the group to the role.

Answer: A

NEW QUESTION 2
You have a single binary application that you want to run on Google Cloud Platform. You decided to automatically scale the application based on underlying
infrastructure CPU usage. Your organizational policies require you to use virtual machines directly. You need to ensure that the application scaling is operationally
efficient and completed as quickly as possible. What should you do?

A. Create a Google Kubernetes Engine cluster, and use horizontal pod autoscaling to scale the application.
B. Create an instance template, and use the template in a managed instance group with autoscaling configured.
C. Create an instance template, and use the template in a managed instance group that scales up and down based on the time of day.
D. Use a set of third-party tools to build automation around scaling the application up and down, based onStackdriver CPU usage monitoring.

Answer: A

NEW QUESTION 3
Your company publishes large files on an Apache web server that runs on a Compute Engine instance. The Apache web server is not the only application running
in the project. You want to receive an email when the egress network costs for the server exceed 100 dollars for the current month as measured by Google Cloud
Platform (GCP). What should you do?

A. Set up a budget alert on the project with an amount of 100 dollars, a threshold of 100%, and notificationtype of “email.”
B. Set up a budget alert on the billing account with an amount of 100 dollars, a threshold of 100%, and notification type of “email.”
C. Export the billing data to BigQuer
D. Create a Cloud Function that uses BigQuery to sum the egress network costs of the exported billing data for the Apache web server for the current month and
sends an email if it is over 100 dollar
E. Schedule the Cloud Function using Cloud Scheduler to run hourly.
F. Use the Stackdriver Logging Agent to export the Apache web server logs to Stackdriver Logging.Create a Cloud Function that uses BigQuery to parse the HTTP
response log data in Stackdriver for the current month and sends an email if the size of all HTTP responses, multiplied by current GCP egress prices, totals over
100 dollar
G. Schedule the Cloud Function using Cloud Scheduler to run hourly.

Answer: D

NEW QUESTION 4
You are asked to set up application performance monitoring on Google Cloud projects A, B, and C as a single pane of glass. You want to monitor CPU, memory,
and disk. What should you do?

A. Enable API and then share charts from project A, B, and C.
B. Enable API and then give the metrics.reader role to projects A, B, and C.
C. Enable API and then use default dashboards to view all projects in sequence.
D. Enable API, create a workspace under project A, and then add project B and C.

Answer: D

NEW QUESTION 5
You are using Data Studio to visualize a table from your data warehouse that is built on top of BigQuery. Data is appended to the data warehouse during the day.
At night, the daily summary is recalculated by overwriting the table. You just noticed that the charts in Data Studio are broken, and you want to analyze the
problem. What should you do?

A. Use the BigQuery interface to review the nightly Job and look for any errors
B. Review the Error Reporting page in the Cloud Console to find any errors.
C. In Cloud Logging create a filter for your Data Studio report
D. Use Cloud Debugger to find out why the data was not refreshed correctly

Answer: D

NEW QUESTION 6
You have a batch workload that runs every night and uses a large number of virtual machines (VMs). It is fault- tolerant and can tolerate some of the VMs being
terminated. The current cost of VMs is too high. What should you do?

A. Run a test using simulated maintenance event
B. If the test is successful, use preemptible N1 Standard VMs when running future jobs.
C. Run a test using simulated maintenance event
D. If the test is successful, use N1 Standard VMs when running future jobs.
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E. Run a test using a managed instance grou
F. If the test is successful, use N1 Standard VMs in the managed instance group when running future jobs.
G. Run a test using N1 standard VMs instead of N2. If the test is successful, use N1 Standard VMs when running future jobs.

Answer: B

NEW QUESTION 7
You are using Container Registry to centrally store your company’s container images in a separate project. In another project, you want to create a Google
Kubernetes Engine (GKE) cluster. You want to ensure that Kubernetes can download images from Container Registry. What should you do?

A. In the project where the images are stored, grant the Storage Object Viewer IAM role to the service account used by the Kubernetes nodes.
B. When you create the GKE cluster, choose the Allow full access to all Cloud APIs option under ‘Access scopes’.
C. Create a service account, and give it access to Cloud Storag
D. Create a P12 key for this service account and use it as an imagePullSecrets in Kubernetes.
E. Configure the ACLs on each image in Cloud Storage to give read-only access to the default Compute Engine service account.

Answer: B

NEW QUESTION 8
You recently deployed a new version of an application to App Engine and then discovered a bug in the release. You need to immediately revert to the prior version
of the application. What should you do?

A. Run gcloud app restore.
B. On the App Engine page of the GCP Console, select the application that needs to be reverted and click Revert.
C. On the App Engine Versions page of the GCP Console, route 100% of the traffic to the previous version.
D. Deploy the original version as a separate applicatio
E. Then go to App Engine settings and split traffic between applications so that the original version serves 100% of the requests.

Answer: D

NEW QUESTION 9
You need a dynamic way of provisioning VMs on Compute Engine. The exact specifications will be in a dedicated configuration file. You want to follow Google’s
recommended practices. Which method should you use?

A. Deployment Manager
B. Cloud Composer
C. Managed Instance Group
D. Unmanaged Instance Group

Answer: C

NEW QUESTION 10
You are deploying an application to App Engine. You want the number of instances to scale based on request rate. You need at least 3 unoccupied instances at all
times. Which scaling type should you use?

A. Manual Scaling with 3 instances.
B. Basic Scaling with min_instances set to 3.
C. Basic Scaling with max_instances set to 3.
D. Automatic Scaling with min_idle_instances set to 3.

Answer: D

NEW QUESTION 10
You built an application on Google Cloud Platform that uses Cloud Spanner. Your support team needs to monitor the environment but should not have access to
table data. You need a streamlined solution to grant the correct permissions to your support team, and you want to follow Google-recommended practices. What
should you do?

A. Add the support team group to the roles/monitoring.viewer role
B. Add the support team group to the roles/spanner.databaseUser role.
C. Add the support team group to the roles/spanner.databaseReader role.
D. Add the support team group to the roles/stackdriver.accounts.viewer role.

Answer: B

NEW QUESTION 13
You deployed an LDAP server on Compute Engine that is reachable via TLS through port 636 using UDP. You want to make sure it is reachable by clients over
that port. What should you do?

A. Add the network tag allow-udp-636 to the VM instance running the LDAP server.
B. Create a route called allow-udp-636 and set the next hop to be the VM instance running the LDAP server.
C. Add a network tag of your choice to the instanc
D. Create a firewall rule to allow ingress on UDP port 636 for that network tag.
E. Add a network tag of your choice to the instance running the LDAP serve
F. Create a firewall rule to allow egress on UDP port 636 for that network tag.

Answer: C
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NEW QUESTION 18
You want to configure autohealing for network load balancing for a group of Compute Engine instances that run in multiple zones, using the fewest possible steps.
You need to configure re-creation of VMs if they are unresponsive after 3 attempts of 10 seconds each. What should you do?

A. Create an HTTP load balancer with a backend configuration that references an existing instance group.Set the health check to healthy (HTTP).
B. Create an HTTP load balancer with a backend configuration that references an existing instance group.Define a balancing mode and set the maximum RPS to
10.
C. Create a managed instance grou
D. Set the Autohealing health check to healthy (HTTP).
E. Create a managed instance grou
F. Verify that the autoscaling setting is on.

Answer: A

NEW QUESTION 19
You are migrating a production-critical on-premises application that requires 96 vCPUs to perform its task. You want to make sure the application runs in a similar
environment on GCP. What should you do?

A. When creating the VM, use machine type n1-standard-96.
B. When creating the VM, use Intel Skylake as the CPU platform.
C. Create the VM using Compute Engine default setting
D. Use gcloud to modify the running instance to have 96 vCPUs.
E. Start the VM using Compute Engine default settings, and adjust as you go based on Rightsizing Recommendations.

Answer: C

NEW QUESTION 21
You create a Deployment with 2 replicas in a Google Kubernetes Engine cluster that has a single preemptible node pool. After a few minutes, you use kubectl to
examine the status of your Pod and observe that one of them is still in Pending status:

What is the most likely cause?

A. The pending Pod's resource requests are too large to fit on a single node of the cluster.
B. Too many Pods are already running in the cluster, and there are not enough resources left to schedule the pending Pod.
C. The node pool is configured with a service account that does not have permission to pull the container image used by the pending Pod.
D. The pending Pod was originally scheduled on a node that has been preempted between the creation of the Deployment and your verification of the Pods’ statu
E. It is currently being rescheduled on a new node.

Answer: B

NEW QUESTION 24
You manage three Google Cloud projects with the Cloud Monitoring API enabled. You want to follow Google-recommended practices to visualize CPU and
network metrics for all three projects together. What should you do?

A. * 1. Create a Cloud Monitoring Dashboard* 2. Collect metrics and publish them into the Pub/Sub topics 3. Add CPU and network Charts (or each of (he three
projects
B. * 1. Create a Cloud Monitoring Dashboard.* 2. Select the CPU and Network metrics from the three projects.* 3. Add CPU and network Charts lot each of the
three protects.
C. * 1 Create a Service Account and apply roles/viewer on the three projects* 2. Collect metrics and publish them lo the Cloud Monitoring API* 3. Add CPU and
network Charts for each of the three projects.
D. * 1. Create a fourth Google Cloud project* 2 Create a Cloud Workspace from the fourth project and add the other three projects

Answer: B

NEW QUESTION 25
Your company’s infrastructure is on-premises, but all machines are running at maximum capacity. You want to burst to Google Cloud. The workloads on Google
Cloud must be able to directly communicate to the workloads on-premises using a private IP range. What should you do?

A. In Google Cloud, configure the VPC as a host for Shared VPC.
B. In Google Cloud, configure the VPC for VPC Network Peering.
C. Create bastion hosts both in your on-premises environment and on Google Clou
D. Configure both as proxy servers using their public IP addresses.
E. Set up Cloud VPN between the infrastructure on-premises and Google Cloud.

Answer: B

NEW QUESTION 30
An application generates daily reports in a Compute Engine virtual machine (VM). The VM is in the project corp-iot-insights. Your team operates only in the project
corp-aggregate-reports and needs a copy of the daily exports in the bucket corp-aggregate-reports-storage. You want to configure access so that the daily reports
from the VM are available in the bucket corp-aggregate-reports-storage and use as few steps as possible while following Google-recommended practices. What
should you do?
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A. Move both projects under the same folder.
B. Grant the VM Service Account the role Storage Object Creator on corp-aggregate-reports-storage.
C. Create a Shared VPC network between both project
D. Grant the VM Service Account the role Storage Object Creator on corp-iot-insights.
E. Make corp-aggregate-reports-storage public and create a folder with a pseudo-randomized suffix name.Share the folder with the IoT team.

Answer: D

NEW QUESTION 33
Your company has a 3-tier solution running on Compute Engine. The configuration of the current infrastructure is shown below.

Each tier has a service account that is associated with all instances within it. You need to enable communication on TCP port 8080 between tiers as follows:
• Instances in tier #1 must communicate with tier #2.
• Instances in tier #2 must communicate with tier #3. What should you do?

A. 1. Create an ingress firewall rule with the following settings:• Targets: all instances• Source filter: IP ranges (with the range set to 10.0.2.0/24)• Protocols: allow
all2. Create an ingress firewall rule with the following settings:• Targets: all instances• Source filter: IP ranges (with the range set to 10.0.1.0/24)•Protocols: allow
all
B. 1. Create an ingress firewall rule with the following settings:• Targets: all instances with tier #2 service account• Source filter: all instances with tier #1 service
account• Protocols: allow TCP:80802. Create an ingress firewall rule with the following settings:• Targets: all instances with tier #3 service account• Source filter:
all instances with tier #2 service account• Protocols: allow TCP: 8080
C. 1. Create an ingress firewall rule with the following settings:• Targets: all instances with tier #2 service account• Source filter: all instances with tier #1 service
account• Protocols: allow all2. Create an ingress firewall rule with the following settings:• Targets: all instances with tier #3 service account• Source filter: all
instances with tier #2 service account• Protocols: allow all
D. 1. Create an egress firewall rule with the following settings:• Targets: all instances• Source filter: IP ranges (with the range set to 10.0.2.0/24)• Protocols: allow
TCP: 80802. Create an egress firewall rule with the following settings:• Targets: all instances• Source filter: IP ranges (with the range set to 10.0.1.0/24)•
Protocols: allow TCP: 8080

Answer: B

NEW QUESTION 34
You are given a project with a single virtual private cloud (VPC) and a single subnetwork in the us-central1 region. There is a Compute Engine instance hosting an
application in this subnetwork. You need to deploy a new instance in the same project in the europe-west1 region. This new instance needs access to the
application. You want to follow Google-recommended practices. What should you do?
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A. 1. Create a subnetwork in the same VPC, in europe-west1.2. Create the new instance in the new subnetwork and use the first instance's private address as the
endpoint.
B. 1. Create a VPC and a subnetwork in europe-west1.2. Expose the application with an internal load balancer.3. Create the new instance in the new subnetwork
and use the load balancer's address as the endpoint.
C. 1. Create a subnetwork in the same VPC, in europe-west1.2. Use Cloud VPN to connect the two subnetworks.3. Create the new instance in the new
subnetwork and use the first instance's private address as the endpoint.
D. 1. Create a VPC and a subnetwork in europe-west1.2. Peer the 2 VPCs.3. Create the new instance in the new subnetwork and use the first instance's private
address as the endpoint.

Answer: B

NEW QUESTION 35
The core business of your company is to rent out construction equipment at a large scale. All the equipment that is being rented out has been equipped with
multiple sensors that send event information every few seconds. These signals can vary from engine status, distance traveled, fuel level, and more. Customers are
billed based on the consumption monitored by these sensors. You expect high throughput – up to thousands of events per hour per device – and need to retrieve
consistent data based on the time of the event. Storing and retrieving individual signals should be atomic. What should you do?

A. Create a file in Cloud Storage per device and append new data to that file.
B. Create a file in Cloud Filestore per device and append new data to that file.
C. Ingest the data into Datastor
D. Store data in an entity group based on the device.
E. Ingest the data into Cloud Bigtabl
F. Create a row key based on the event timestamp.

Answer: D

NEW QUESTION 39
Your organization is a financial company that needs to store audit log files for 3 years. Your organization has hundreds of Google Cloud projects. You need to
implement a cost-effective approach for log file retention. What should you do?

A. Create an export to the sink that saves logs from Cloud Audit to BigQuery.
B. Create an export to the sink that saves logs from Cloud Audit to a Coldline Storage bucket.
C. Write a custom script that uses logging API to copy the logs from Stackdriver logs to BigQuery.
D. Export these logs to Cloud Pub/Sub and write a Cloud Dataflow pipeline to store logs to Cloud SQL.

Answer: A

NEW QUESTION 43
You have a Google Cloud Platform account with access to both production and development projects. You need to create an automated process to list all compute
instances in development and production projects on a daily basis. What should you do?

A. Create two configurations using gcloud confi
B. Write a script that sets configurations as active, individuall
C. For each configuration, use gcloud compute instances list to get a list of compute resources.
D. Create two configurations using gsutil confi
E. Write a script that sets configurations as active,individuall
F. For each configuration, use gsutil compute instances list to get a list of compute resources.
G. Go to Cloud Shell and export this information to Cloud Storage on a daily basis.
H. Go to GCP Console and export this information to Cloud SQL on a daily basis.

Answer: A

NEW QUESTION 47
You have a large 5-TB AVRO file stored in a Cloud Storage bucket. Your analysts are proficient only in SQL and need access to the data stored in this file. You
want to find a cost-effective way to complete their request as soon as possible. What should you do?

A. Load data in Cloud Datastore and run a SQL query against it.
B. Create a BigQuery table and load data in BigQuer
C. Run a SQL query on this table and drop this table after you complete your request.
D. Create external tables in BigQuery that point to Cloud Storage buckets and run a SQL query on these external tables to complete your request.
E. Create a Hadoop cluster and copy the AVRO file to NDFS by compressing i
F. Load the file in a hive table and provide access to your analysts so that they can run SQL queries.

Answer: C

NEW QUESTION 49
You want to verify the IAM users and roles assigned within a GCP project named my-project. What should you do?

A. Run gcloud iam roles lis
B. Review the output section.
C. Run gcloud iam service-accounts lis
D. Review the output section.
E. Navigate to the project and then to the IAM section in the GCP Consol
F. Review the members and roles.
G. Navigate to the project and then to the Roles section in the GCP Consol
H. Review the roles and status.

Answer: D
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NEW QUESTION 51
Your team maintains the infrastructure for your organization. The current infrastructure requires changes. You need to share your proposed changes with the rest
of the team. You want to follow Google’s recommended best practices. What should you do?

A. Use Deployment Manager templates to describe the proposed changes and store them in a Cloud Storage bucket.
B. Use Deployment Manager templates to describe the proposed changes and store them in Cloud Source Repositories.
C. Apply the change in a development environment, run gcloud compute instances list, and then save the output in a shared Storage bucket.
D. Apply the change in a development environment, run gcloud compute instances list, and then save the output in Cloud Source Repositories.

Answer: B

NEW QUESTION 55
Your company uses a large number of Google Cloud services centralized in a single project. All teams have specific projects for testing and development. The
DevOps team needs access to all of the production services in order to perform their job. You want to prevent Google Cloud product changes from broadening
their permissions in the future. You want to follow Google-recommended practices. What should you do?

A. Grant all members of the DevOps team the role of Project Editor on the organization level.
B. Grant all members of the DevOps team the role of Project Editor on the production project.
C. Create a custom role that combines the required permission
D. Grant the DevOps team the custom role on the production project.
E. Create a custom role that combines the required permission
F. Grant the DevOps team the custom role on the organization level.

Answer: A

NEW QUESTION 59
You need to update a deployment in Deployment Manager without any resource downtime in the deployment. Which command should you use?

A. gcloud deployment-manager deployments create --config <deployment-config-path>
B. gcloud deployment-manager deployments update --config <deployment-config-path>
C. gcloud deployment-manager resources create --config <deployment-config-path>
D. gcloud deployment-manager resources update --config <deployment-config-path>

Answer: B

NEW QUESTION 64
Your existing application running in Google Kubernetes Engine (GKE) consists of multiple pods running on four GKE n1–standard–2 nodes. You need to deploy
additional pods requiring n2–highmem–16 nodes without any downtime. What should you do?

A. Use gcloud container clusters upgrad
B. Deploy the new services.
C. Create a new Node Pool and specify machine type n2–highmem–16. Deploy the new pods.
D. Create a new cluster with n2–highmem–16 node
E. Redeploy the pods and delete the old cluster.
F. Create a new cluster with both n1–standard–2 and n2–highmem–16 node
G. Redeploy the pods and delete the old cluster.

Answer: B

NEW QUESTION 66
You are the project owner of a GCP project and want to delegate control to colleagues to manage buckets and files in Cloud Storage. You want to follow Google-
recommended practices. Which IAM roles should you grant your colleagues?

A. Project Editor
B. Storage Admin
C. Storage Object Admin
D. Storage Object Creator

Answer: B

NEW QUESTION 69
Your finance team wants to view the billing report for your projects. You want to make sure that the finance team does not get additional permissions to the project.
What should you do?

A. Add the group for the finance team to roles/billing user role.
B. Add the group for the finance team to roles/billing admin role.
C. Add the group for the finance team to roles/billing viewer role.
D. Add the group for the finance team to roles/billing project/Manager role.

Answer: A

NEW QUESTION 73
You are deploying an application to a Compute Engine VM in a managed instance group. The application must be running at all times, but only a single instance of
the VM should run per GCP project. How should you configure the instance group?

A. Set autoscaling to On, set the minimum number of instances to 1, and then set the maximum number of instances to 1.
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B. Set autoscaling to Off, set the minimum number of instances to 1, and then set the maximum number of instances to 1.
C. Set autoscaling to On, set the minimum number of instances to 1, and then set the maximum number of instances to 2.
D. Set autoscaling to Off, set the minimum number of instances to 1, and then set the maximum number of instances to 2.

Answer: A

NEW QUESTION 78
You create a new Google Kubernetes Engine (GKE) cluster and want to make sure that it always runs a supported and stable version of Kubernetes. What should
you do?

A. Enable the Node Auto-Repair feature for your GKE cluster.
B. Enable the Node Auto-Upgrades feature for your GKE cluster.
C. Select the latest available cluster version for your GKE cluster.
D. Select “Container-Optimized OS (cos)” as a node image for your GKE cluster.

Answer: B

NEW QUESTION 80
You need to set a budget alert for use of Compute Engineer services on one of the three Google Cloud Platform projects that you manage. All three projects are
linked to a single billing account. What should you do?

A. Verify that you are the project billing administrato
B. Select the associated billing account and create a budget and alert for the appropriate project.
C. Verify that you are the project billing administrato
D. Select the associated billing account and create a budget and a custom alert.
E. Verify that you are the project administrato
F. Select the associated billing account and create a budget for the appropriate project.
G. Verify that you are project administrato
H. Select the associated billing account and create a budget and a custom alert.

Answer: B

NEW QUESTION 82
You are the team lead of a group of 10 developers. You provided each developer with an individual Google Cloud Project that they can use as their personal
sandbox to experiment with different Google Cloud solutions. You want to be notified if any of the developers are spending above $500 per month on their sandbox
environment. What should you do?

A. Create a single budget for all projects and configure budget alerts on this budget.
B. Create a separate billing account per sandbox project and enable BigQuery billing export
C. Create a Data Studio dashboard to plot the spending per billing account.
D. Create a budget per project and configure budget alerts on all of these budgets.
E. Create a single billing account for all sandbox projects and enable BigQuery billing export
F. Create a Data Studio dashboard to plot the spending per project.

Answer: C

NEW QUESTION 87
You need to configure IAM access audit logging in BigQuery for external auditors. You want to follow Google-recommended practices. What should you do?

A. Add the auditors group to the ‘logging.viewer’ and ‘bigQuery.dataViewer’ predefined IAM roles.
B. Add the auditors group to two new custom IAM roles.
C. Add the auditor user accounts to the ‘logging.viewer’ and ‘bigQuery.dataViewer’ predefined IAM roles.
D. Add the auditor user accounts to two new custom IAM roles.

Answer: C

NEW QUESTION 89
You need to add a group of new users to Cloud Identity. Some of the users already have existing Google accounts. You want to follow one of Google's
recommended practices and avoid conflicting accounts. What should you do?

A. Invite the user to transfer their existing account
B. Invite the user to use an email alias to resolve the conflict
C. Tell the user that they must delete their existing account
D. Tell the user to remove all personal email from the existing account

Answer: B

NEW QUESTION 90
You want to configure an SSH connection to a single Compute Engine instance for users in the dev1 group. This instance is the only resource in this particular
Google Cloud Platform project that the dev1 users should be able to connect to. What should you do?

A. Set metadata to enable-oslogin=true for the instanc
B. Grant the dev1 group the compute.osLogin role.Direct them to use the Cloud Shell to ssh to that instance.
C. Set metadata to enable-oslogin=true for the instanc
D. Set the service account to no service account for that instanc
E. Direct them to use the Cloud Shell to ssh to that instance.
F. Enable block project wide keys for the instanc
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G. Generate an SSH key for each user in the dev1 group.Distribute the keys to dev1 users and direct them to use their third-party tools to connect.
H. Enable block project wide keys for the instanc
I. Generate an SSH key and associate the key with that instanc
J. Distribute the key to dev1 users and direct them to use their third-party tools to connect.

Answer: D

NEW QUESTION 92
You have an application that uses Cloud Spanner as a database backend to keep current state information about users. Cloud Bigtable logs all events triggered by
users. You export Cloud Spanner data to Cloud Storage during daily backups. One of your analysts asks you to join data from Cloud Spanner and Cloud Bigtable
for specific users. You want to complete this ad hoc request as efficiently as possible. What should you do?

A. Create a dataflow job that copies data from Cloud Bigtable and Cloud Storage for specific users.
B. Create a dataflow job that copies data from Cloud Bigtable and Cloud Spanner for specific users.
C. Create a Cloud Dataproc cluster that runs a Spark job to extract data from Cloud Bigtable and Cloud Storage for specific users.
D. Create two separate BigQuery external tables on Cloud Storage and Cloud Bigtabl
E. Use the BigQuery console to join these tables through user fields, and apply appropriate filters.

Answer: D

NEW QUESTION 94
You have created an application that is packaged into a Docker image. You want to deploy the Docker image as a workload on Google Kubernetes Engine. What
should you do?

A. Upload the image to Cloud Storage and create a Kubernetes Service referencing the image
B. Upload the image to Cloud Storage and create a Kubernetes Deployment referencing the image
C. Upload the image to Container Registry and create a Kubernetes Service referencing the image.
D. Upload the image to Container Registry and create a Kubernetes Deployment referencing the mage

Answer: C

NEW QUESTION 95
&. You are working for a hospital that stores Its medical images in an on-premises data room. The hospital wants to use Cloud Storage for archival storage of
these images. The hospital wants an automated process to upload any new medical images to Cloud Storage. You need to design and implement a solution. What
should you do?

A. Deploy a Dataflow job from the batch template "Datastore lo Cloud Storage" Schedule the batch job on the desired interval
B. In the Cloud Console, go to Cloud Storage Upload the relevant images to the appropriate bucket
C. Create a script that uses the gsutil command line interface to synchronize the on-premises storage with Cloud Storage Schedule the script as a cron job
D. Create a Pub/Sub topic, and enable a Cloud Storage trigger for the Pub/Sub topi
E. Create an application that sends all medical images to the Pub/Sub lope

Answer: A

NEW QUESTION 99
You have an application running in Google Kubernetes Engine (GKE) with cluster autoscaling enabled. The application exposes a TCP endpoint. There are
several replicas of this application. You have a Compute Engine instance in the same region, but in another Virtual Private Cloud (VPC), called gce-network, that
has no overlapping IP ranges with the first VPC. This instance needs to connect to the application on GKE. You want to minimize effort. What should you do?

A. 1. In GKE, create a Service of type LoadBalancer that uses the application's Pods as backend.2. Set the service's externalTrafficPolicy to Cluster.3. Configure
the Compute Engine instance to use the address of the load balancer that has been created.
B. 1. In GKE, create a Service of type NodePort that uses the application's Pods as backend.2. Create a Compute Engine instance called proxy with 2 network
interfaces, one in each VPC.3. Use iptables on this instance to forward traffic from gce-network to the GKE nodes.4. Configure the Compute Engine instance to
use the address of proxy in gce-network as endpoint.
C. 1. In GKE, create a Service of type LoadBalancer that uses the application's Pods as backend.2. Add an annotation to this service: cloud.google.com/load-
balancer-type: Internal3. Peer the two VPCs together.4. Configure the Compute Engine instance to use the address of the load balancer that has been created.
D. 1. In GKE, create a Service of type LoadBalancer that uses the application's Pods as backend.2. Add a Cloud Armor Security Policy to the load balancer that
whitelists the internal IPs of the MIG's instances.3. Configure the Compute Engine instance to use the address of the load balancer that has been created.

Answer: A

NEW QUESTION 104
You need to produce a list of the enabled Google Cloud Platform APIs for a GCP project using the gcloud command line in the Cloud Shell. The project name is
my-project. What should you do?

A. Run gcloud projects list to get the project ID, and then run gcloud services list --project <project ID>.
B. Run gcloud init to set the current project to my-project, and then run gcloud services list --available.
C. Run gcloud info to view the account value, and then run gcloud services list --account <Account>.
D. Run gcloud projects describe <project ID> to verify the project value, and then run gcloud services list--available.

Answer: A

NEW QUESTION 105
Your organization has strict requirements to control access to Google Cloud projects. You need to enable your Site Reliability Engineers (SREs) to approve
requests from the Google Cloud support team when an SRE opens a support case. You want to follow Google-recommended practices. What should you do?

A. Add your SREs to roles/iam.roleAdmin role.
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B. Add your SREs to roles/accessapproval approver role.
C. Add your SREs to a group and then add this group to roles/iam roleAdmin role.
D. Add your SREs to a group and then add this group to roles/accessapproval approver role.

Answer: A

NEW QUESTION 107
You want to send and consume Cloud Pub/Sub messages from your App Engine application. The Cloud Pub/Sub API is currently disabled. You will use a service
account to authenticate your application to the API. You want to make sure your application can use Cloud Pub/Sub. What should you do?

A. Enable the Cloud Pub/Sub API in the API Library on the GCP Console.
B. Rely on the automatic enablement of the Cloud Pub/Sub API when the Service Account accesses it.
C. Use Deployment Manager to deploy your applicatio
D. Rely on the automatic enablement of all APIs used by the application being deployed.
E. Grant the App Engine Default service account the role of Cloud Pub/Sub Admi
F. Have your application enable the API on the first connection to Cloud Pub/Sub.

Answer: A

NEW QUESTION 110
You are building an application that processes data files uploaded from thousands of suppliers. Your primary goals for the application are data security and the
expiration of aged data. You need to design the application to:
•Restrict access so that suppliers can access only their own data.
•Give suppliers write access to data only for 30 minutes.
•Delete data that is over 45 days old.
You have a very short development cycle, and you need to make sure that the application requires minimal maintenance. Which two strategies should you use?
(Choose two.)

A. Build a lifecycle policy to delete Cloud Storage objects after 45 days.
B. Use signed URLs to allow suppliers limited time access to store their objects.
C. Set up an SFTP server for your application, and create a separate user for each supplier.
D. Build a Cloud function that triggers a timer of 45 days to delete objects that have expired.
E. Develop a script that loops through all Cloud Storage buckets and deletes any buckets that are older than 45 days.

Answer: AE

NEW QUESTION 114
You need to create a copy of a custom Compute Engine virtual machine (VM) to facilitate an expected increase in application traffic due to a business acquisition.
What should you do?

A. Create a Compute Engine snapshot of your base V
B. Create your images from that snapshot.
C. Create a Compute Engine snapshot of your base V
D. Create your instances from that snapshot.
E. Create a custom Compute Engine image from a snapsho
F. Create your images from that image.
G. Create a custom Compute Engine image from a snapsho
H. Create your instances from that image.

Answer: D

Explanation: 
A custom image belongs only to your project. To create an instance with a custom image, you must first have a custom image.

NEW QUESTION 117
You are running a data warehouse on BigQuery. A partner company is offering a recommendation engine based on the data in your data warehouse. The partner
company is also running their application on Google Cloud. They manage the resources in their own project, but they need access to the BigQuery dataset in your
project. You want to provide the partner company with access to the dataset What should you do?

A. Create a Service Account in your own project, and grant this Service Account access to BigGuery in your project
B. Create a Service Account in your own project, and ask the partner to grant this Service Account access to BigQuery in their project
C. Ask the partner to create a Service Account in their project, and have them give the Service Account access to BigQuery in their project
D. Ask the partner to create a Service Account in their project, and grant their Service Account access to the BigQuery dataset in your project

Answer: D

NEW QUESTION 121
You have an application that receives SSL-encrypted TCP traffic on port 443. Clients for this application are located all over the world. You want to minimize
latency for the clients. Which load balancing option should you use?

A. HTTPS Load Balancer
B. Network Load Balancer
C. SSL Proxy Load Balancer
D. Internal TCP/UDP Load Balance
E. Add a firewall rule allowing ingress traffic from 0.0.0.0/0 on the target instances.

Answer: C
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NEW QUESTION 126
Your company set up a complex organizational structure on Google Could Platform. The structure includes hundreds of folders and projects. Only a few team
members should be able to view the hierarchical structure. You need to assign minimum permissions to these team members and you want to follow Google-
recommended practices. What should you do?

A. Add the users to roles/browser role.
B. Add the users to roles/iam.roleViewer role.
C. Add the users to a group, and add this group to roles/browser role.
D. Add the users to a group, and add this group to roles/iam.roleViewer role.

Answer: C

NEW QUESTION 128
You need to create a Compute Engine instance in a new project that doesn’t exist yet. What should you do?

A. Using the Cloud SDK, create a new project, enable the Compute Engine API in that project, and then create the instance specifying your new project.
B. Enable the Compute Engine API in the Cloud Console, use the Cloud SDK to create the instance, and then use the ––project flag to specify a new project.
C. Using the Cloud SDK, create the new instance, and use the ––project flag to specify the new project.Answer yes when prompted by Cloud SDK to enable the
Compute Engine API.
D. Enable the Compute Engine API in the Cloud Consol
E. Go to the Compute Engine section of the Console to create a new instance, and look for the Create In A New Project option in the creation form.

Answer: A

NEW QUESTION 133
Your company has a large quantity of unstructured data in different file formats. You want to perform ETL transformations on the data. You need to make the data
accessible on Google Cloud so it can be processed by a Dataflow job. What should you do?

A. Upload the data to BigQuery using the bq command line tool.
B. Upload the data to Cloud Storage using the gsutil command line tool.
C. Upload the data into Cloud SQL using the import function in the console.
D. Upload the data into Cloud Spanner using the import function in the console.

Answer: A

NEW QUESTION 134
For analysis purposes, you need to send all the logs from all of your Compute Engine instances to a BigQuery dataset called platform-logs. You have already
installed the Stackdriver Logging agent on all the instances. You want to minimize cost. What should you do?

A. 1. Give the BigQuery Data Editor role on the platform-logs dataset to the service accounts used by your instances.2. Update your instances’ metadata to add
the following value: logs-destination:bq://platform-logs.
B. 1. In Stackdriver Logging, create a logs export with a Cloud Pub/Sub topic called logs as a sink.2.Create a Cloud Function that is triggered by messages in the
logs topic.3. Configure that Cloud Function to drop logs that are not from Compute Engine and to insert Compute Engine logs in the platform-logs dataset.
C. 1. In Stackdriver Logging, create a filter to view only Compute Engine logs.2. Click Create Export.3.Choose BigQuery as Sink Service, and the platform-logs
dataset as Sink Destination.
D. 1. Create a Cloud Function that has the BigQuery User role on the platform-logs dataset.2. Configure this Cloud Function to create a BigQuery Job that
executes this query:INSERT INTOdataset.platform-logs (timestamp, log)SELECT timestamp, log FROM compute.logsWHERE timestamp>
DATE_SUB(CURRENT_DATE(), INTERVAL 1 DAY)3. Use Cloud Scheduler to trigger this Cloud Function once a day.

Answer: C

NEW QUESTION 139
You need to set up a policy so that videos stored in a specific Cloud Storage Regional bucket are moved to Coldline after 90 days, and then deleted after one year
from their creation. How should you set up the policy?

A. Use Cloud Storage Object Lifecycle Management using Age conditions with SetStorageClass andDelete action
B. Set the SetStorageClass action to 90 days and the Delete action to 275 days (365 – 90)
C. Use Cloud Storage Object Lifecycle Management using Age conditions with SetStorageClass and Delete action
D. Set the SetStorageClass action to 90 days and the Delete action to 365 days.
E. Use gsutil rewrite and set the Delete action to 275 days (365-90).
F. Use gsutil rewrite and set the Delete action to 365 days.

Answer: A

NEW QUESTION 140
You are working with a Cloud SQL MySQL database at your company. You need to retain a month-end copy of the database for three years for audit purposes.
What should you do?

A. Save file automatic first-of-the- month backup for three years Store the backup file in an Archive class Cloud Storage bucket
B. Convert the automatic first-of-the-month backup to an export file Write the export file to a Coldlineclass Cloud Storage bucket
C. Set up an export job for the first of the month Write the export file to an Archive class Cloud Storage bucket
D. Set up an on-demand backup tor the first of the month Write the backup to an Archive class Cloud Storage bucket

Answer: A

NEW QUESTION 141
Your Dataproc cluster runs in a single Virtual Private Cloud (VPC) network in a single subnet with range 172.16.20.128/25. There are no private IP addresses
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available in the VPC network. You want to add new VMs to communicate with your cluster using the minimum number of steps. What should you do?

A. Modify the existing subnet range to 172.16.20.0/24.
B. Create a new Secondary IP Range in the VPC and configure the VMs to use that range.
C. Create a new VPC network for the VM
D. Enable VPC Peering between the VMs’ VPC network and the Dataproc cluster VPC network.
E. Create a new VPC network for the VMs with a subnet of 172.32.0.0/16. Enable VPC network Peering between the Dataproc VPC network and the VMs VPC
networ
F. Configure a custom Route exchange.

Answer: B

Explanation: 
A subnet has a single primary IP address range and, optionally, one or more secondary IP address ranges. For each subnet IP address range, Google Cloud
creates a subnet route. When you use VPC Network Peering, Google Cloud always exchanges the subnet routes that don't use privately reused public IP
addresses between the two peered networks. If firewall rules in each network permit communication, VM instances in one network can communicate with
instances in the peered network.

NEW QUESTION 146
......
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